The next operation, cross product, is more interesting. It is defined for vectors in 3 dimensional space, 3 and 5, and their cross product is a third vector 3x5. he regular several To explain this operation, preliminary concepts. Left and Right pairs of vectors the plane b / a puir of nectors two different types of pairs. (ã,6) Consider the angle between vector 2 and 6 Consider the fran T. consider which direction should ad rotate & so that its direction eventually coincides with B. (E,5) is counterclockwise (b clockwise right pair a left pair

If
$$(\vec{a}, \vec{b}')$$
 forms a right pair then
 (\vec{b}, \vec{a}') is a left pair,

and conversig.

These are degenerate cases.

Signed area of a parallelograms
say a parablelogram is defined by vectors

$$\vec{a}$$
 and \vec{b} .
 \vec{b}
 \vec{c}
 \vec{c}

negative and is if you make a hole in shope of a parallelogram, you can constitut as negative area (it is what is deticiant in the whole sheet of paper).

much more rogalarly Signed area behaveç than usual area. How to find it? Let us look for the tourinla. We will do so step by step by Cramining fle Properties of this function. unlike dot product) Properties of A(a,b) (anti-symmetric) $(\vec{a}, \vec{b}) = -A(\vec{b}, \vec{a})$ because if you take a right pair and Change places, then (5,57) is left. (z) $A(k\vec{a},\vec{b}) = \neq A(\vec{a},\vec{b})$ for $\xi \in \mathbb{R}$ $\frac{1}{6}$ $\frac{1}{6}$ Since and b ka ut parallelogram is proportional to uside 11, it if k positive negative F-1102)

`¥



z = a + b

 $A(\vec{a},\vec{c}) + A(\vec{b},\vec{c})$

The difference between this area and that at OPQP is that we added Δ RSQ and subtracted Δ OUP. These two triangle are shifts of one another, thus have same signed area.

Here we considered simplest case when all pairs of vectors are right, and so all signed areas are simple areas. One needs to consider more general contiguentions but it is the same latter more root). Y) A(iji) = 1 Since(iji) is a right pain A(j,i) = 0 (degewate problelogram hasp A(j,j) = 0 (degewate problelogram hasp A(j,j) = 0 zero width) Now we muy derive the formula.

Suppose $\vec{a} = (a_1, a_2), \quad \vec{b} = (b_1, b_2)$ $A(\vec{a},\vec{b}) = A(a(\vec{a} + az), b(\vec{a} + bz))$ $= A(a,i,b,i) + A(a,i,k_2)$ $t A(a_{2j}, b_{2}) + A(a_{2}), b_{1})$ $= a, b, A(2, 2) + a, b_z A(2, 3)$ $+ a_{2}b_{2}A(jj) + a_{2}b_{1}A(jj)$ $= a_1 b_2 - a_2 b_1 = \begin{vmatrix} a_1 & a_2 \end{vmatrix} \frac{determinant}{b_1 & b_2}$

B



Since $A(\vec{a}, \vec{b})$ is negative, if means that \vec{a} and \vec{b} form \vec{a} left pair.



This is the concept leading to the cross product.

Signed volume at a purallelepiped consider three vectors 57,7 not sying in the same plane. A b a v c

Pet: These vectors form a right triple If you look at 3,6 from the view of vector 2, and you have to votate 3? constructorise to align with 6, then (3,5,2) is a right triple.

 $f \in \mathcal{E}$ $f \in \mathcal{E}$ clochnike, thun $f \in \mathcal{I}$ $f \in$



$$T = parallelepiped$$

$$T = parallelepiped$$

$$T = parallelepiped$$

$$Det: The signed volume of T defined$$

$$by vectors \vec{a}_{1}\vec{b}_{1}\vec{c} \quad is$$

$$V(\vec{a}_{1}\vec{b},\vec{c}) = \begin{cases} usnol volume & if (\vec{a}_{1}\vec{b}_{1}\vec{c}) & if if triple} \\ vector & if (\vec{a}_{1}\vec{b}_{1}\vec{c}) & if (\vec{a}_{1}\vec{b}_{1}\vec{c}) & if (\vec{a}_{1}\vec{b}_{1}\vec{c}) \end{cases}$$

What properties?
i)
$$V(\vec{a}, \vec{b}, \vec{c}) = -V(\vec{b}, \vec{a}, \vec{c})$$

 $= -V(\vec{a}, \vec{c}, \vec{c})$
 $= -V(\vec{a}, \vec{c}, \vec{c})$
Since $(\vec{a}, \vec{b}, \vec{c})$ is right triple, then
 $(\vec{b}, \vec{a}, \vec{c}), (\vec{a}, \vec{c}, \vec{c})$ and $(\vec{c}, \vec{b}, \vec{c})$
and $(\vec{c}, \vec{c}, \vec{c})$

0

2)
$$V(k\vec{a}, \vec{b}, \vec{c}) = k V(\vec{c}, \vec{c}, \vec{c})$$

 $V(\vec{a}, k\vec{b}, \vec{c}) = k V(\vec{c}, \vec{c}, \vec{c})$
 $V(\vec{c}, k\vec{c}, \vec{c}) = k V(\vec{c}, \vec{c}, \vec{c})$.
3) $V(\vec{a}, + \vec{d}, \vec{b}, \vec{c}) = V(\vec{a}, \vec{c}, \vec{c}) + V(\vec{d}, \vec{c}, \vec{c})$
Proved in the name way as in 20.
Proved in the name way as in 20.
Acam the two parallel pipeds $\vec{a}, \vec{b}, \vec{c}$
and $\vec{d}, \vec{b}, \vec{c}$.
Their difference is some prism.
Some property for other slots:
 $V(\vec{a}, \vec{b}, \vec{c}, \vec{c}) = V(\vec{a}, \vec{b}, \vec{c}) + V(\vec{a}, \vec{d}, \vec{c})$
 $V(\vec{a}, \vec{b}, \vec{c}, \vec{c}) = V(\vec{a}, \vec{b}, \vec{c}) + V(\vec{a}, \vec{d}, \vec{c})$
 $V(\vec{a}, \vec{b}, \vec{c}, \vec{c}) = V(\vec{a}, \vec{b}, \vec{c}) + V(\vec{a}, \vec{b}, \vec{d})$

(4)

4)
$$V(\hat{i}, \hat{j}, \hat{j}, \hat{k}) = 1$$
 (unit cube)
 $V(\hat{k}, \hat{i}, \hat{j}, \hat{k}) = 1$ (unit cube)
 $V(\hat{k}, \hat{i}, \hat{j}) = 1$ (right triple
 $V(\hat{j}, \hat{k}, \hat{k}) = -1$ (off triples
 $V(\hat{k}, \hat{j}, \hat{k}) = -1$ (off triples
 $V(\hat{k}, \hat{k}, \hat{k}) = -1$ (off triples)
 $V(\hat{k}, \hat{k}) = -1$ (off triples)
 $V(\hat{k$

V (a,b,c) = $V(a_i i + a_i j + a_i k_i) = b_i i + b_i i + b_i k_i + c_i i + c_i + c$ = 27 terms (3×3×3) $= \mathcal{V}(\alpha, \hat{c}, b, \hat{c}, c, \hat{c}) +$ $V(a_i, b_i) c_i$ $V(a_{2}k, b_{3}k, (-, k))$ $= a_1b_1c_1V_1a_1(c_1c_1) + \cdots + a_2b_3c_3V_1a_1a_1(c_1c_1)$ $= \alpha_{1}b_{2}c_{3} V(i_{1}i_{1}k) + \alpha_{1}b_{3}c_{2} V(i_{1}k_{j})$ $+ a_2 b_1 c_3 V(j_1(j_k)) + a_2 b_3 c_1 V(j_1(j_k)) - 1$ $t \alpha_3 b_1 c_2 V(k_1 c_3) + \alpha_3 b_2 c_1 V(k_1 c_3)$ $= a_1b_2c_3 + a_2b_1c_2 + a_2b_3c_1 - a_1b_3c_2 - a_2b_1c_3 - a_3b_2c_1$

$$V\left(\vec{a},\vec{b},\vec{c}\right)$$
= $a_{1}b_{2}c_{3} + a_{2}b_{1}c_{2} + a_{2}b_{3}c_{1} - a_{1}b_{3}c_{2} - a_{3}b_{1}c_{3} - a_{3}b_{2}c_{1}$
This funny formula turns out simply to be
the determinant!
$$V\left(\vec{a},\vec{b},\vec{c}\right) = \begin{cases} a_{1} & a_{2} & a_{3} \\ b_{1} & b_{2} & b_{3} \\ c_{1} & c_{2} & c_{3} \end{cases}$$

Let us write

expand deferminant relative to last row

$$= C_{1} \begin{bmatrix} a_{2} & a_{3} \\ b_{2} & b_{3} \end{bmatrix}$$

- C_{2} \begin{bmatrix} a_{1} & a_{3} \\ a_{1} & a_{3} \\ b_{1} & b_{3} \end{bmatrix}
+ C_{3} \begin{bmatrix} a_{1} & a_{2} \\ b_{1} & b_{3} \end{bmatrix}

Let us define a vector

$$\vec{F}(\vec{a},\vec{b}) = \left(\begin{vmatrix} a_2 & a_3 \\ b_2 & b_3 \end{vmatrix} - \begin{vmatrix} a_1 & a_3 \\ b_1 & b_3 \end{vmatrix} \begin{vmatrix} a_1 & a_2 \\ b_1 & b_2 \end{vmatrix} \right)$$
With this, we have the formula

$$V(\vec{a},\vec{b},\vec{c}) = \vec{F}(\vec{a},\vec{b}) \cdot \vec{c}$$
But what is the volume geometrically?



É is vector normal to the plane of porellelogram (2,3); Call et T.

Moreoner • || Ê || = | area (TT)] direction is so that $(\tilde{a}, \tilde{b}, \tilde{E})$ form a right trople

Now, we see that



Parallel piped defined by (ã, g, z)

 $V(\vec{a},\vec{b},\vec{c}) = (anen of base) \cdot (height)$ デモ・こ $= \|\vec{E}\| \|\vec{c}\| \cos \theta$





Thus

$$V(\vec{a}, \vec{b}, \vec{c}) = \vec{F} \cdot \vec{c} = \vec{E} \cdot \vec{c}$$

This holds for any \vec{c} . Thus

$$\vec{E} = \vec{F}$$

$$\vec{E} \text{ is a vector orthogonal to plane
is a vector orthogonal to plane
is spanned by \vec{a}, \vec{b} whose length is
spanned by \vec{a}, \vec{b} whose length is
equal to the area of the parallelogram.
We shall name this quantity:

$$\vec{F}(\vec{c}, \vec{b}) = \vec{a} \times \vec{b}$$

$$\frac{Cross Product}{c}$$$$

The formula is

$$\frac{1}{2} \times \frac{1}{2} = \begin{vmatrix} a_{2} & a_{3} \\ b_{2} & b_{3} \end{vmatrix} \stackrel{?}{i} + \begin{vmatrix} a_{1} & a_{3} \\ b_{1} & b_{3} \end{vmatrix} \stackrel{?}{j} + \begin{vmatrix} a_{1} & a_{2} \\ b_{1} & b_{2} \end{vmatrix} \stackrel{?}{k} = \begin{vmatrix} a_{2} & a_{3} \\ b_{1} & b_{2} & b_{3} \end{vmatrix} \stackrel{?}{k} = \begin{vmatrix} a_{1} & a_{2} & a_{3} \\ a_{1} & a_{2} & a_{3} \\ b_{1} & b_{2} & b_{3} \end{vmatrix}$$

$$\frac{1}{2} \times con ple: \quad a = (1, 2, 3) \quad b = (3, 2, -1), \quad c = (0, 2; 3) \quad b = (3, 2, -1), \quad c = (0, 2; 3) \quad b = (3, 2, -1), \quad c = (0, 2; 3) \quad c = (2, 2, 3), \quad b = (3, 2, -1), \quad c = (0, 2; 3) \quad c = (2, 2, 3) \quad c = (2, 2, 3), \quad b = (3, 2, -1), \quad c = (0, 2; 3) \quad c = (2, 2, 3), \quad c = (2, 3, 2), \quad c = (2, 3, 3), \quad c = (2, 3$$

-(